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Polymorphism

[BIO307] The probability that a gene will mutate when a cell divides is called the
mutation rate

[BIO307] A transient polymorphisms is a type of polymorphism where
a form is progressively replaced by another

[BIO307] Which of the following concepts maintain genetic polymorphism in a
pouplation?
Natural selection

[BIO307] Out of population of 6129 individuals, genotypes MM, MN and NN contain
1787, 3039, 1303 respectively. Determine the genotypic frequency of MN
0.5

[BIO307] The following processes affect adaptation except
Selection

[BIO307] The process by which traits evolve that make organisms more suited to their
immediate environment is
Adaptation

[BIO307] Which of the following organisms does NOT exhibit polymorphism?
None of the options

[BIO307] Out of population of 6129 individuals, genotypes MM, MN and NN contain
1787, 3039, 1303 respectively. Determine the genotypic frequency of MM
0.289

[BIO307] Out of population of 6129 individuals, genotypes MM, MN and NN contain
1787, 3039, 1303 respectively. Determine the genotypic frequency of NN
0.213
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